H & 0l & AHS B Ml A

20258 =0ilah LESIH A= 0t

S ZSAAE D
Y =22 HECAl 2H
chel: SAIHE 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= 470,886 132,694 338,192
Al 150,000
- 320,886
SR HEBZA 728 381,840 42,352 339,488
Al 150,000
- 231,840
CAH =2 378,340 36,852 341,488
Al 150,000
T 228,340
SAAE 2E 32,640 31,182 1,488
201 er23 | 16,340 14,852 1,488
01 At2teltl 16,340 14,852 1,488
NEZAAEARS 2EE
70,0002 *18H 63 *80% 6,048
NEAl - ABTSFIRE 2Y4L
70,0002 * 18 62| *80f% 6,048
NEAIZEIHE 2t U2l & 22|
2,000,000& 2,000
NeIZHEE SSHICIXNIAN 224+
150,000 * 12 +20H At 32 900
NeRRAZSE SN2 E 28+
70,0002 «6 2 *43| *80% 1,344
203 gF=4| 2,300 2,300
03 A=A 2= 2,300 2,300
NEZAIAE gRFE 2,300,000& 2,300
308 AHXIEMSOIE 14,000 14,000
18 SIS0t & A AS A 14,000 14,000
Nz 802 1,000,000 *27H At+72] 14,000
Il 2l 3,000 3,000
201 fet= 3| 3,000 3,000
01 AtR2t2|HI 3,000 3,000
NEY =2 500,000 x224 1,000
NZEEI =25 1,000,000 224 2,000
=73 =208 ZEMIY 1,000 1,000 0
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
N=RsS 8202 TEAY PRFX
1,000,000 1,000
Seteh AIZIMEN HE 40,000 40,000
308 AtAIEHMSOIE 40,000 40,000
07 HXHH RS 40,000 40,000
NSEte AIQIEZ0 A- JI2HE SS9
e 40,000,000 40,000
Aet2 A= =8 301,700 1,700 300,000




2A:

S AIHIE D

Y =22 HECAl 2H
chel: SAIHE 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 150,000
T 151,700
203 HR=H] 1,700 1,700
03 A=A 2= 1,700 1,700
DXTELHE 48 42EX
1,700,000 1,700
401 AIEHIX 20 300,000 0 300,000
Al 150,000
- 150,000
01 AlZ8| 300,000 0 300,000
1OIOtAFHEIS = XIS HE HEH S
A 300,000,000 300,000
Al 150,000
T 150,000
OIS HEHIS& X+ i 2,000 4,000 22,000
OI0tS & MHEHIEAX 7 2S 2,000 4,000 22,000
203 HR=AH] 2,000 2,000 0
03 A= LR F&IH| 2,000 2,000 0
OIOISEMWELI SN FAIY LRFX
2,000,000 2,000
FHEE 2 At 1,500 1,500 0
2elg FHSZHEA 1,500 1,500 0
203 =] 1,500 1,500 0
03 A=A 2= 1,500 1,500 0
DRI EHSAWSAY SSEW
1,500,000 1,500
HH 23 89,046 90,342 A1,296
Jl=2ZHI(SAIHE D 89,046 90,342 A1,296
JI2ZHI(SAIHE D 89,046 90,342 A1,296
201 et 3| 37,062 35,334 1,728
01 At22t2l] 37,062 36,334 1,728
NAAANRSE 5,958
NS == tal 10,0002 * 17 & %42 680
AMFES 120:21%3,0000H 360
EOREONE=ES 302 7,0000H 210
2)28D| SHEY 187,000 x4 H 748
2)=80I ZeiEY
286,000& x3JH*42] 3,432
S8 HEUS 83,0002 *6H 528
NI1=2RFa SAH|
9,000 162 *x204! x 12 *90% 31,104
202 04| 48,384 51,408 A3,024
01 =LHOLI 48,384 51,408 A3,024




2A:

SAIHEID
B sm 2oy
S JI2ZHI(SAIHE D) (CH9): &S
= - L=
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
NII2YRFE o
20,0003 * 16 * 142 122 x90% 48,384
203 PR =&IH| 3,600 3,600
M FA2LHRFAH 3,600 3,600
1)200! Olal 300,000& =123 3,600




